N
A
AN ‘
X and Y are two brothers. B is the brother 4. Choose the missing letters of the series

1.
of A and A 1S the mother of X. How is B ABC, GHI, MNO, 7
ted to Y ?
related tO (A) RST
(A) Maternal uncle /
B) STU
(B) Mother
(C) PQR
(C) Brother
(D) QRS
(D) Father
5. (Choose the word with related similarity
2. Just as ‘Court’ is related to ‘Justice’, in the from the given options.
same way ‘School’ is related to which of Room : Floor: : River: ?7
. ‘? | L - | |
the following 1 (A) Bottom
:(A) Class (G Thsh
B) Student ’
et (C) Whale
(C) Teacher
(D) Water
(D) Education '
_ 6. If 16 is on the third Friday of a month,
3.  Select the odd one out from the options| then which date will fall on the fourth
given Below Tuesday of the same month ?
(A) Aeroplane s (A) 25
(B) Bird B) 26
(C) Tanker (C) 27
(D) Aerial umbrella 4 (D) 928

s, L -e)e




(C) 30

& |

8. If‘+ means “, ‘-’ means ‘~, ‘~ means X

and ‘<’ means ‘+ then

12+ 6334058950 10. Find the missing number :
(A) 8-;— 5 ‘ ) LI 93 390 34 2
(A) 43
B) 91 .
, 3
(C) 9=
: 4 I
(C) 36
(D) 9-}2-
(D) 42
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A

G ' '
) Questions No. 11 - 15 (Based on Passage-1) | o5  pich of the following causes we
. . ar and
! Passage-1 tear in our body ?
ﬁ- All the challenges, problems and (A) Eustress
|
difficult circumstances put us to stress. (B) Distress
F Thus, if handled properly, stress increases

(C) Normal Effect

the probability of one’s survival. Stress

gives energy, increases human arousal (D) Both — Distress and Eustress

and affects performance. High stress can

'produCe unpleasant effects and cause our L oy (use

performance to deteriorate. Conversely, (A) Low motivation

ittle stress ma - to feel 1 A S
too little y cause-one to feel low (B). High motivation

on motivation, which may lead us to

perform slowly and less efﬁcieritly. It is (C). No effect on motivation

important to remember that not all stress (D) Both high and low effect on

is inherently bad. ‘Eustress’ is the term motivation

used to describe the level of stress that is

g0od and is one of a person’s best assets 14. Stress 1s not genefated by which one of

for achieving peak performance. Eustress, the following ?

however, has thé potential of turning into (A) Chauengeg

‘distress’, It is this latter manifestation of

. (B) Problems
stress that causes our body's wear and -

tear. | _ (C) Difficult circumstances

(D) Resources

1. Eustress i?, ' 45 4 15. Too high level of stress leads to
(A Sometimes good (A) High performance
(B) Bad SR (B) Low performance
(C) Always good E . (C) Pleasant effect

(D) All of the above




Q)i 16 - 20 (Based on Passage-2 . -
aglions No ) 17. Subjective eXperience that uges imagé
| Ty 1s

il _ (A) Cognition

ss plays a. significant role in | .
Stre 7o sH ; (B) Personal experience
.,hyslcal diseases. Hypertension, heart
Cisease, diabetes and even cancer are
- ked to high level of stress. Therefore, D) Creative visualization

ing techniques to manage Stress 1S

(C) Emotion

KNOW

,. very essential.
18. The approach to replace 1Irrational

. Relaxation  technique 1S an

important skill that reduces symptoms of thoughts with rational ones is called

stress. It calms the mind and relaxes the o
(A) Meditation

body. Deep breathing is used in this ‘

technique. The yogic method of meditation (B) Cognitive behavioural technique

consists of a sequence of learned | : ' LR

techniques for refocussing of attention that (C) Creative visualization

brings about an altered state of D) All of the above

consciousness. The Dbiofeedback is a
procedure to develop awareness to monitor

and reduce the physiological aspects of |19. Which technique is used to calm the

stress by providing feedback about current ted 7
| h . 1 . 0. \s 0 ; | | | | _ |
i osice activity (A) Relaxation technique
Creative visualization is a subjective (B) Biofeedback
experlence that wuses imagery and ' ’
' (C) Meditation

lmagmatlon Cognitive behavioural

techmques are meant to replace negative

(D) Courage
~ and irrational thoughts with positive and el

 rational ones. e ' o
- | 20. Refocussing of attention could be done by

Developmg an aware_ﬁess : 'for. the Whiéh 'Of the following techniques ?

(A) Rel axation

(Bf Medltatl on
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LY ?

;)

D)

o8
A

I' rin a code language, 34687 is written as|gs
43778, how will 47592 be written in that

,ode language ?
/A) 56683
B) 55683
55738

56873

, | ,
If ‘man’ is called ‘woman,

called ‘boy’, ‘boy 1s called ‘girl’, .

called ‘pilot’ and ‘pilot’ 1s called ‘child’,

" then who will fly the aeroplane ?

(A) Pilot

(C)

Girl
Child

(B)

(D) Man

33.

-

On the basis of the following analogy,
choose the correct option.

~Prédiction . Future : : Guilt :_?

(A) Present

(B) Misdeed

(C) Past

(D) Repent

If 30*" January, 2023 was Monday then

what was the day on 2nd March, 2023 9

(A) Sunday

(B) Thursday

(C) Wednesday

(D) Tuesday

Manoj ranks seventeenth in a class of

59 students. What is his rank from the
last ?

(A) « L7

B) 18

©) 42

D) 43

37. Choose the diagram that best represents

the relationship among the given classes :

L

Engineers, Accountants, Professionals




¢ you write down all the numbers from |41.

The next number in this series will be

1 to 100, then how many times do you

v rite 7

/A) 20

T, 15,19, 83, 89,

(A) 96

(B) 97

(C) 98

(D) 99

42. If a shop gives 30% discount and then

provides another 20% discount, then the

«Berlin” is related to “Germany’ in the

total discount will be

same way as “Jakarta” 1s related to

(A) UK

(A) 50%

(B) 49%

(B) France

(C) 44%

(C) Indonesia

(D) Malaysia

43 If ‘ﬁ:he dlstance between city P and city Q

40. Which one of the followmg words cannot
be formed by using the

ducatl

'ls X km and the distance between city Q
a'}:_d CIty R is y km, then the distance

’ .ﬁtw een clty P and city R 1s

letters of the word |

onal”

:Lj : f'* -) X+ y

() greater than x +Yy




4, ifthe number of accidents occurring in the |46 1f ‘No S is P’ is a false statement th
. ) en

-qiddle of the am | han the ' '
Al road is much more than | which of these statements is necess-arily

accidents occurring on the side of the
. true ?

~0ad, then

_ (A) AllSisP
‘(A) ‘Make the citizens aware _and

construct speed breakers (B) Some Sis P

)

(B) Organize celebrity events (C) Some SisnotP

(C) Infer that walking in the 'middle of (D) None of the above

the road is safer

- (D) None of the above

If you find that the question paper 1s too
difficult and seems to be out of the
' S syllabus‘, what will you do first ?

'] ' . I [
i L
v !
§ i
| i

Wt (A)]Tell the examiner that questions are

45. Postponement of an event is an|
o R ~out of course
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B N

o4th : ' i
24" dJuly, 1979 is a Tuesday, then ol. From the options listed below, ident;
which one is not a communication skill i

(A) Active listening
41N St h
(a) 21°" July, 1980 (B) Empathy

(C) Complexity

(D) Open bOdy 1anguage
() 23rd July, 1980

52. Which one of the following ; I
- g 1S not a
. (D) 924%™ July, 1980 component of Emotional Intelligence ?

(A) Self-awareness

(B) Self-motivation
If two cows are tied to a common pole and (C) Conflict representation
the length of the ropes are P and Q, where | (D) Social skills

P is greater than Q, then the total area

' grazed by both the cows will be 53. What is Problem solving ?

(A) The ability to identify the problem,

&) P2 R L . - cause of the problem, analyse
| ' o solutions and implement the best
B) 1Q2 by . solution.
. e ' . (B) The ability to describe the
N P2 2 s ~ traditional knowledge of
A gt communities  accumulated  over
| 5 50 b i _ Several generations.
D) nPc —m Yed  AOaE e
" ? s ko h | (C) The ability to help two parties to
. R ' - resolve their differences.
% L Gt Tk . (D) The ability to read books and
: . give/provide comprehensive and

process

5. D : T i il e .. -
--emsmn making  detailed information about an 1ssue.

A

. 4

54. Training in Brainstorming signities
(A) Decrease in creative problem solving
(B) Increase in intelligence

(C) Neutralising of creativity

A

Decrease in intelligence

-1...1.'..," t:.- l




50. Wliat dOES al interview‘ ‘_imply ?

rom the options listed below, identify the 5Q

1qrrier in communication.

'A) Disinterest

B) Clear message
(C) Lack of confusion ‘
(D) Physicalﬁ comfort ﬁ

.

=
el

. Which one of the following options is net 5

part of conflict process ?

(A) Potential opposition

or
incompatibility

(B) Intentions
(C) Motivation

(D) Behaviour

(A) Data analysis 59 Which thinker said, “Non-verbal elements
o - . are mdre important 1n communication” ?
(B) Observation '- _ |
| (A) Bandura
(C) Communication |

0

(D) Face-to-face conversation

n o i i
ar -|IIr -I.F b - .

" ¥

o

i, o

(B) Mehrabian

(C) Ellsworth

(D)

Carl Jung
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